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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

S —

2.  Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR Sheet. As the answer sheets are designed to suit the
Optical Mark Reader (O.M.R.) system, special care should be taken to fill those
items accurately.

4. This Question Booklet contains 55 questions, Part - A contains 40 questions of
one mark each. Part - B contains 15 questions of two marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR Sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded /wrongly
shaded/half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.
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dpon - / PART - A
8,3 eao\igobnj.% e30R. =3 ct)j?:m WO @oﬁaﬁ@t HAODTITTS. 40x1=40

Choose the best option. Each question carries One mark.

VDeFE ODT) DIDETIT FESTO 2,00 3TTHY, YW WeRT.

(a) 3& (b) 3ogxeS (c) e (d) BITOTY

The expected success is not just an opportunity for innovation, it demands

(a) Creation (b) Technology (c) Money (d) Innovation

8 FHNVYNYS) 030030 IRSAT 20,0085 S BARA rHeowgeasy) ?

(a) eom (b) 35 (c) 358 (d) Sodeeor

Which of the following is not an attribute of psychological individual
difference ?

«(a) Motivation (b) Learning (c) Personality (d) Complexion
A0 V3¢ B20d YN Dgearieh ol ?
(a) oWV DJe=es (b) 232083
(c) 3Tedre DJewes (d) IR 2030
Which are the following methods of time management ?
(a) ABC analysis (b) JIT
(c) Pareto analysis (d) All of the above
9IPDT FODBS DOWTE) ?

(a) TFFoT®S

(b) %@H%ﬁg WHIR F0DB™

(c) h’oaﬁéamé{) WHFDRDT QT

(d) BoaEBD Jom®mS

What is non-verbal communication ?

(a) Visual communication

(b) The communication without using works
(c) By using numbers

(d) Actionable communication

P.T.O.
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S.

A0 AT BEBAI ©023Meh 0300y ?

(a) U GUsBTS S TS

(b) B&RD w3E

(c) eUgsdh P30 a8

(d) e 2

What are the benefits of time managements ?
(a) Greater productivity and efficiency

(b) Less stress
(c) A better professional reputation

(d) All of the above

DR Peds BPD0 JTe0ST BIeNe VNG, 2 FEOID ST Tode T 83
o & & 2 == o o (]

RIS,
(a)  Zodoo- WRDETTD (b) 3 HOTYS
(c)  es3r9Css (d) Fodo-dodoge
is the positive or negative way an individual views himself or
herself. | |
(a) Self-actualisation (b) Self-concept
(c) Self-esteem (d) Self-regulation
W3B NOWT :
(a) wox 33 (b) 30307 $38ReET 3
(c) 803 33 (d) TeBodber® I
Stress 1is :
(a) External force (b)) Internal resistive force
(c) Axial force (d) Radial force
rbar'iez}@ BRODRIRYTD VRN DEGre T CSQ)%L VCIRZIIDTAIAOVE VRIS,
(a) P o (b) &eow
(c) ©IWTBY (d) eI I
- Setting goals gives you long-term vision and short-term
(a) Value HER “(b) Motivation
(c) Innovation | (d) All of the above
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9. 08 BNIJY) Boow® ég mﬁwﬁ%ﬁ@ C{eloVbT VR

(a) 1869 (b) 1879 (c) 1867 (d) 1877
Japan opened there doors to the modern world in :
(a) 1869 (b) 1879 (c) 1867 (d) 1877

10. %R0 303008 WwIBMPN 909N 53,0305 ToWFTIY LIDTeTDN 3¢ Hew £2&8 RTINS 93T

(@)  awNOIRA Foso- e (b)  PBPRTE BB
(c)  meRFwHRTN Fodo- B0y (d)  Zodoo-Do08RIOY

People are more likely to act in line with personal beliefs than to conform to
social pressures when they are

(a) Privately self-aware (b) Low in self-esteem

(c) Publicly self-aware (d) Not self-regulating

11. Reeof Jedon® AnR08:Y) B3Se TeoN.

(a) Jer sE* (b) PBR° ©oF°

(c) wes’e (d) o5&y, dewo®
Goal setting theory is pioneered by :

(a) Stacy Adams (b) Edwin Locke
(c) Charms (d) F.W. Taylor

12. Qenddow H WeTonmernss ?

(a) 700R,35 &IS (b)  @oes® L) oS

(c) PR P TV 3¢S (d) ePF[INR ) adrieh

What is revealed by the posture ? |

(a) Cultural background (b) Thoughts and feeling

(c) Behaviour mild or tough (d) Expressions and actioﬁs |

13. 09300053 mw&gob IR RT-3DET é:)?par'iﬁa’g 0300x3 €3eTT aaéméa’)?omgﬁ ?

(a) odes (b) 'egme &. RRER
(c) & Ppers ‘ - (d) RO 05 sedues®
Which author defined the socio-economic segmentation of the American
market ? TSR T | - st
(a) Edsel : - (b) Alfred P. Sloan
(c) Henry Ford | (d) Cyrus Mc Cormick
C P.T.O.
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14. 03 9e8od BosS®T) £2§c‘d A083,03 %O a’ocﬁeeiﬁfdg Oa0aR08T ?

(a) BFw3 b) o
(c) " SR 308 £3 (d)  RedT 0w

Which type of communication conveys the message to the large number of
people ?

(a) Newspaper (b) Language

(c) Mass Media and TV (d) All the above

15. Jeextc 306 20@3e) 7

(a) Redese 08, (b)  ~zIRoD o

(c) G 233500 20T Fes (d) So8aees BeYLIest
What is Morse code ?

(a) Secret number (b) Adventurous act
() A set of sound symbol (d) Alphabet over wire

16. 03000 WS ﬁ)acjaabag_g ﬁoc&&@@mgd &

(a) @I* (b) &So¢

(c) TR0 (d) eI s Q)
Who invented change model ?

(a) Drawin (b) Lewin

(c) Kottar (d) None of the above

17. Z0s383BE) 0doess Sossue) VPRNEIZES ?

(a) FoFBS W3oEeRAS (b) Jg=8z SR

(c) eov0re w&beTz) (d) IR cdnyTe e9e)

Which communication is very slower in communication ?

(a) Written communication (b) Newspaper media
(c) Outdoor advertisement (d) None of the above

18. ains dedsy) 8 38 &) 1970 &8 1980 G 3883 ehoesy SR0VBEIONE BB HeSe a3N
BAVRRNTS ?
(a)  essdeds (b)  wwmons (c) 28w (d) oeos

Which country emerges as an economic Superpower and the toughest
competition in the worlds market of the 1970s and 1980s ?

(a) America (b) Japan (c) China (d) India




o TR 7 Gs-685

19.

20.

21.

22.

0TS DI 7

(@) %08 WA WHIIY

(b) QBeedIen/ 8ue8Ten JHa0d BPBITEH
(€) WIFE AT BRCOIIBT

(d) e dQ

What is signal ?

(a) A previously agreed movement

(b) Helps to direct/command
(c) Shows the future direction

(d) All the above

%83 JTE BB Va3t BEBOL TLIES 2IBT AWR0BSD) ZintekiInl

(a) ©DIT (b) DI IBSPE

(c) S3Rs (d) &S

Stress management training is based on a theory of stress.
(a) Cognitive (b) Cognitive behaviour

(c) Psychodynamic (d) Behavioural

Rgris, godorieh B89, DNP0E YSTSR0DN F0BHT SIEIT) 2,060 VTIB T 03TNT :

(a) SPDT FoDBO (b) T JoSHd

(c) DOVF-BWEOF JORDBD (d) WwRTe BY

Communicating with others by gestures, actions, etc. is an example of :
(a) Verbal Corﬁmunication (b) Action Communication

(c) Non-Verbal Communication (d) None of these

03003 eS8 N mcﬁejawﬁé’abag TIAD) :do-:ﬁ,,fwa"mf@ SBVOTSFTROE 7

(a) QD (b) oSBT

(c) 290¢c05 (d) WDITP Y

What shocks have continued to impose change or organizations ?
(a) Economic | (b) Psyéhological

(c) Physiological (d) None of these

P.T.O.
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23. odeensy) 3Boivs 038 :
(a) 3@ (b) Geer
(c) BFxaHed (d) eds a3
Yoga is a culture which prevents :
(a) Stress (b) Disease
(c) Disharmony (d) All of the above

24. 0dns IR BY ST RSOveBE J-2ori8rt DRTNTD) VeBIFS ?
(a) 1993 (b) 1983 (c) 1996
In which year Le Frannaois offers definitions for significant s
(a) 1993 (b) 1983 (c) 1996
25. 20°.9.%. 0D TPOE AT HI ?
(a) 55 BFIAD oD (b) BQuewdR B33 DeRS
(c) BB 293A Y (d) B SR e3¢
What is the full form of LPC ?
(a) Least Preferred Const. (b) Labour Preferred Co
(c) Labour Private Corporation (d) Low Price Cost
26. HVoISIEB0D VoS8T D) CBOIVSTS ?
(a) @ (b) esems
(c) ©2038 (d) RIS dnzyEe 9¢)
What is followed by refreezing ?
(a) Movement (b) Stable
(c) Instability (d) None of the above
27. noveme S-2R7}8MeN 1996 5e) adedh 00 0TI VeEBT ?
(a) 2. 3 (b)  SFeveciws
(c) Sodx® (d) ﬁeab: c%’jojoo6
Who offered definition in 1996 for significant self-awareness
(a) G. Stonley (b) Le Frannaois
(c) Mullis (d) Wayne Dyer

LT

(d) 1986
elf-awareness ?
(d) 1986
st

?
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28.

29.

30.

31.

083, @FT (egg row) FOBBTY” 28000 Dew) T30I0EED ?

(a) TORE BT LORED (b)  ©%we0D AASH0D

(c) w©RTe 2506307 | (d) R0y 3ede

What do you call “The communication to a mass of people or bigger group” ?
(a) Public speech (b) Exchanging opinion

(c) Official chatting (d) General talk

030053 03B 3§ 09530 WY ea@gzi)abaﬁﬁ@ K08 1RV pOIATMADIA! BOBITID @@edd@d}daﬁd@t
ao'aéa:}aé@:den R08) CUR0D mtﬁéﬁodo@t 0379 TS0 SR8 7

(a) R0 (b) Beed IS
(c) RTORRID (d) aInYY 03RJBR VY

A

Which structure refers to the extent to which a leader is likely to define and
structure his or her rote and those of subordinates in the search for goal
attainment ?

(a) Organization (b) Hierarchical

(c) [nitiating (d) None of these
£3¢36° 0300 Dedad GR=NS ?

(a) 3OS PIATY (b) 035033 PDIARY

(c) nReodess PRIAIN (d) awIBeBY

Which type of device is telex ?

(a) Telegraphic device (b) Mechanical device
(c) Computerized device (d) None of these

0908R0E D) TOBOMFR) DI euele DRI 7

(a) APE0RLT CRLONAES (b) @O TOBNH

(c) ™ FOZe) D (d) Soedd DO
Interpersonal skillé are referred to as :

(a) Social skills | (b) People skills
(c) Soft skills (d) Al of the above

P.T.O.
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32.

33.

34.

35.

gaﬁ $p08 EOACTTEIND BUTESe30309NS 7

(a) RweEO*-TYO° (b) Re-Sug

(c) ~o° (d) QwIE Y
Knowledge-based innovations is the entrepreneurship ?
(a) Super-star (b) Small-star

(c) Star (d) None of these

AETORI30 F0B0IIR) 03093 03B Dey) Begron JROEIIE ?

(a) FReFOEh K WO D (b)  T° 2%He0a0

(c) werE'saRoN® (d) SPDs 0353

Which communication can clarify the doubts of the receiver very fast ?
(a) Posters and banners (b) Fox advertising

(c) Broadcasting (d) Oral communication

83 TINBHYY 0y rHhdn)es Oedod odeess v ?
(a) @0 (b) ev3Tedses (c) 33@3666 (d) 0B
Which of the following is not a recognised type of Plan ?

(a) Business (b) Succession (c) Ad hoc (d) Financial

gai)o BDDT BF0LIM

(a) Fodo- BOFYBOLR) BTN F-207]8 BID0ETY
(b)  wyd Fodo wor}30r) WIBIE mqsc‘:)g
(c) THTY F0d0 9OF)Y we edriveNwas
a3 & Q
(d) Q@ BoyRNAE doryeSetdn® Totdr T°IY A0BO® STBRESNY BVRB00R) 893 02RTIITS

Studies of self-awareness have found that

(a) Self-awareness is not necessary for one to have a self concept
(b) It is not possible to disengage one’s self awareness
(c) Humans are the only animals who are self-aware

(d) It may rely on the presence of spindle neurons in the anterior cingulated
cortex.
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36.

37.

38.

39.

40.

GS-685

BRQE3ETD 00T,

(a) Fos (b) wo (c) Roddpe (d) Sogzes
Innovation means.

(a) Work (b) Strength (c) Resource (d) Technology
BRTD) 00 58,03 FHNIY e 0deeyd 7

(a) HPBT B[PTO (b) SeEOor?®

(c) @&@dd@ (d) 3odeeds® S3

Which of the following shows the process of creating something new ?

(a) Business model (b) Modelling

(c) Innovation (d) Creative flexibility

0RBR) ISBEHT BeHER 2,00 TN,

(a) ~opeUe (b) ©QDess

(c) 'Jagisa@ﬁ (d) oeds odoeyTe v

The success is a challenge to management’s Judgement.
(a) Normal (b) Unexpected

(c) Forever (d) None of the above

QeFETIOE rOOND

(a) BOB B3 S reh VG0 H%W) (b) Revdor T IR NED

(C) 20T IRE BFD0 TRV (d) oedT odoeeycie 99

Long-term goals are :

(a) Five to ten years or more (b) Three to five years

(c) One year or less (d) None of the above

D) TONTS BBSVEMES 2

(a) @0 L b)) @ (¢) e (d) o

o]
How many leadership behaviours are there ?

(a) Two (b) Three (c) Four (d) Five

P.T.O.
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41.

42.

43.

44,

2o - 9 / PART - B

58,33 e303)0d) DA, ©3 303008 2 0TS 30T 15x2=30

Choose the best options. Each question carries 2 marks.

03 RosED) Br0We SeraNcIBTS ?

(a) SWOYPD (b) wiT P33

(c) SPDsVPI3 (d) =wITe v

Which communication is very fast ?

(a) Facial expression (b) Written expression
(c) Oral expression (d) None of the above
F0SBITE) DR WIBINTS ?

(a) Rodesrwd (b) 2K

(c) S00YeD (d) 2wRTe Y

What is used in communication ?

(a) Signals (b) Language

(c) Facial expression (d) None of these

2,063 BRBWTHe) WWT MIOLT FOY m@dr‘i%ﬁ@t 933 RO0&T ITJON B3, T .

(a) wootsRFON® (b) "m0 (c) R (d) e

When a group gives some of its leadership positions to the member of other
group, 1t 1s :

(a) Contracting (b) Co-opting (c) Co-alition (d) Competition

ROTBD Tad) B0, TYRVE, ToDTNW, 09703, 00T, Mg M) F082 WwFaseN

W03RSYT.
(a) SRPDT F0DHS (b) ©SRDT I0IBO
(c) rlescdedn® (d) DFedeads
3 communication our value, ideas,’ beliefs, opinions,needs and wants
freely.
(a) Verbal communication (b) Non-verbal communication
(c) Negotiation (d) __Assertiveness
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45.

46.

47.

48.

20T F0I0 BIDDYTLOTW 308) IFY BBV T,WeBDOT 90302 000MF )

RSTAE VWO .

(a) BOOPIHTT (b)  AToTHTRTO (c) IR~ Feo® (d) ©EB02&%
Leader 1s self-confident and can attract followers by his great

influence.

(a) Charismatic (b) Autocratic (c) Laissez-faire (d) Bureaucratic

DORE WAT LRI ROWTE ?

(a) FeTEwEIT 9,03 (b) VTR

(c) RIvem JoTIB (d) FesRd R0 Wit Fiedd

What is public speech ?
(a) Public opinion (b) Lecture

(c) Mass Communication (d) Information about general topic

010253 T20LTAL FROS LD B,2087089 0% BH0IPD B3 VTS BT VS SIO
w0080 ?

(a) ABeesI (b) oGS 5038
(c) Wowe (d) 2NRSHDSSDH

Which leader sets challenging goals and expects followers to perform at
their higher level ?

(a) Directive (b) Achivement oriented

(c) Supportive (d) Participative

0350e3 20T 9:300E VDeFFWPNG 0T PLRT ?

(a) OCerss ! (b)  omrisbmmsaED
(c) S 8ged8 (d) wWowe

Which leaders know what is eﬁpected of them ?

(a) Directive -~ (b) Participative

(c) Achievement oriented '(d‘) Supportive

P.T.O.
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49. S8 IINIYNYS) 03000 E@Qi)ﬁg %Ogo@rﬁ%b ?

50.

51.

52,

14

(a) e)ﬁea%mgoa’ (b)
(c) @ﬁ?gﬁ%mgos (d)

Which one of the following is/are leadership theories ?

(a) Trait Theory (b)
(c) Contingency theory (d)

aaodoﬁgd T03°- ALV [T 03730 HOBOAITTA 7

(a) 3R QRS B0BY OoWESE BOX°
(b) P&° eQo®

(c) Deedn®

(d) TeHoR’

Path-goal model of leadership was introduced by :

(a) Martine Evans and Robert House

(b) Fred fielder
(c) Whetton

(d) Cameron

SBEVOL ATROS
QIINTLDN

Behaviour theory
All of these

AUERERED R

DT TOODTIES BAOD) 20wisy-2:008) 50635° B Don® BREYTT b eveesdges ?
(a) SoaSewod eere® (b)
(c) SpBerDode’ B3ewesf (d)
What refers to a nine-by-nine metric outlining different leadership style ?
(a) Manager table (b)
(c) Managerial table (d)

AV LIVDITE DI

(a) odoemeriewe su8sd A0I0Z e DBEHE
(b)  e33es eugsd Qoo er HFesies

(c) odoomeriene 8)3=D D00 DFEHED
(d) odeweniewe gUga) STV DYCwED

ABC analysis expand :

(a) Always better control analysis

(b) Alright better control analysis
(c) Always best control analysis

(d) Always better copy analysis

Dot ®T NE°
VYD) T Y

Managerial grid

None of these
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53.

54.

55.

V0030TZE SBIYT 0300y ?

(a) ow® (b)  %eriedriasemdd
(c) oGS speda (d) IddeesS
Which is the leadership behaviour ?

(a) Supportive (b) Participative
(c) Achievement oriented (d) Directive

%R0Y HOZT eugiedrivnn 392800003 3 0RIETI 0w TR LTI
FOGKE -
(a) €0 (b) Qodosed (c) @oodoS (d) et
is the ability of influencing people to strive willingly for mutual
objectives.
(a) Motivation (b) Control (c) Leadership (d) Supervision
33 FSARDNYE) 03D WOTET 8BTS AR08 7

(a) =2F ﬂqa (b) ==s° leee’® AR08

(c) Se=F-obses®  z=iecarges  (d) 22 $e0B8 D035

Which of the following is not a contingency theory of leadership ?
(a) LPC Theory (b) Path goal theory

(c) Vroom-yehon-jago theory (d) Job centred leadership

-00o0-

P.T.O.



